—2x%y? = X%y x (—2xy)? = AxByC A W A + B+ C 9| 3t& F5HH?

@o @ 2 ® 4 @ 8 ® 16



@ (-a?)? x (2b)® = —4a*b?
@ (=xy)* x 2xy = 2x%y?

® a®x (-2b)?* x a® = 4a°b?

@ (=3y)% x (—xy)?

)

2a
b

)

—3x3y5
34
B



@ 27

5 uske] 72 W, o] 40 3 ujsc} Atia gt of

G S B 2 A

@ 3 ® 4 7} @ 5 7N ® 6 7



4. oW ALE 3ujste] 4 5 Haiy, o] 4:0] 5 MR Tt ATk e of
D7) g 5 g S

T U e BF Hotofeh (T x < 10)

D L
-



=

oo

% &7 e AL
@ a*+a*=0 @ at-d® —a
1
®a3+a6:73 @ axaxaxa—a
a

@ a+a+a+a:4a



® o @ a* ® o

@ a®

a



7. x<449d, —2x+19 7o H9=?

O -2x+1<-7 @ -2x+1>-7 ® -2x+1<7

@ -2x+1>7 ® —2x+1<7



8. a<-1%u 3a+4 9] A9 o] HE Fstoizt

5 S
=%



